
 

 

 
 

 

 

201 Grandin Road 

Maineville, Ohio 45039 

(513) 677-0500 

 

 

 

 

 

 

 

AW Mini Handset Instructions 
 

For use with BavCom
TM

 Audio 

 
 

 

 

 

 

 

 

 

 

 
     Copyright 2020 E. F. Bavis & Associates, Inc.                                             Revised: 10/28/2020 

     All Right Reserved                                                                                                    PN: 00674011 

 



 



AW Mini Handset Instructions 

 

Table of Contents 

 

 

Instructions ............................................................................................................. 1 

Figure 1 ..................................................................................................................................... 2 

Figure 2 ..................................................................................................................................... 3 

Tools Required ......................................................................................................................... 4 

Drill Template .......................................................................................................................... 5 

Revisions .................................................................................................................................. 6 

 

 

 





 

 

 

 

 

1 

 

  

Instructions: 

 

1. Turn power off at the main breaker. 

 

 

2. Remove audio panel by removing the 2 Philips head screws on top & on the 

lower left corner of the audio panel. 

 

 

3. Remove the #4-40 nuts securing the audio board and then remove the audio 

board. 

 

 

4. Using the paper template supplied at the end of this manual, locate and drill the 

holes accordingly.  

 

 

5. Install the handset cradle with the 4 truss head screws provided 

 

 

6. Cut the speaker and volume control wires 6” as shown in figure 1. 

 

 

7. Strip wires and install the new harness using the red inline connectors provided 

as shown in figure 1.  

 

8. Disconnect the inside boom mic wire from the pre-amp board. Install both mic 

extension cables as shown in figure 2. 

 

 

8. Reinstall audio board. 

 

 

9. Secure the mic extension wires with the wire ties provided. 

 

10. Turn power on and test the audio. 

 

11. Reinstall the audio panel with the screws removed in step #2. 

 



 

 

 

 

 

2 

 

  

 

FIGURE 1

HOOKSWITCH

BLACK

ORANGE

CUT HERE

BLACK

ORANGE

BLACK

ORANGE

SPLICE IN PIGTAILS PROVIDED

 



 

 

 

 

 

3 

 

  

 

HOOKSWITCH

AUDIO BOARD

AUDIO BOARD

FIGURE 2

EXISTING MIC WIRING LAYOUT RETROFIT MIC/HANDSET WIRING LAYOUT

BOOM MIC BOOM MIC

MIC EXTENSION

CABLES PROVIDED



 

 

 

 

 

4 

 

  

Tools Required 

 

 

1. Side cutters 

2. 1/4 nut driver 

3. #2 Philips screwdriver 

4. 7/8 Unibit 

5. Wire crimpers 

6. Drill & 3/16 Bit 



 

 

 

 

 

5 

 

  

Drill Template for Hook Switch 
 

CHASE TO

7/8" DIA

KEEP THESE EDGES FLUSH

TO UPPER LEFT CORNER

2
5
8

2
3
8

3
16

1
15
16

1

3/16" DIA

TYP

 
 

 

 

NOTE: Check dimension scaling on this sheet before using. 

 



 

 

 

 

 

6 

 

  

Revisions: 

 

ECN  Date 

3996 05/20/2003 

 10/28/2020 

 

   



 

 

 

 

 

 

 

  

 


